
Partial Fraction General Case

For convenience: consider j! as a variable v:

H(v) =
bn�1v

n�1 + bn�2v
n�2 + · · ·+ b1v + b0

vn + an�1vn�1 + an�2vn�2 + · · ·+ a1v + a0

=
bn�1v

n�1 + bn�2v
n�2 + · · ·+ b1v + b0

(v � p1)�1(v � p2)�2 · · · (v � pr)�r

We write this as a sum of simpler polynomial ratios as

H(v) =
A11

(v � p1)
+

A12

(v � p1)2
+ · · ·+ A1�1

(v � p1)�1

+
A21

(v � p2)
+

A22

(v � p2)2
+ · · ·+ A2�2

(v � p2)�2

· · ·
+

Ar1

(v � pr)
+

Ar2

(v � pr)2
+ · · ·+ Ar�r

(v � pr)�r

We can inverse CTFT each term using tn�1

(n�1)!e
�at

u(t) ! 1
(a+j!)n for a > 0.
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Example

Calculate the output for the input x(t) = e
�t
u(t), for a system with the input-

output relationship:

d
2
y(t)

dt2
+ 3y(t) =

dx(t)

dt
+ 2x(t).
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Example

Suppose a causal stable continuous-time LTI system has frequence response

H(j!) =
4 + j!

6� !2 + j5!
.

Determine its impulse response in time-domain.
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